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16. (a) Express ———  1n partial fractions.
P(11-2P)

A population of meerkats is being studied.

The population is modelled by the differential equation

ar : P(11-2P), t>0 0<P<55

= - = - <P<S5.

i~ ) 120,

where P, in thousands, 1s the population of meerkats and 7 is the time measured in years
since the study began.

Given that there were 1000 meerkats in the population when the study began,

(b) determine the time taken, in years, for this population of meerkats to double,

(c) show that
P= 4

1

B+Ce ?

where 4, B and C are integers to be found.



